SAT Math FProbabilily

A

: - N o In a farm, there are of two sizes
In a farm, there are 30 rabbits of two sizes 2 . 6 S
“small and big” and three colors “white, small and big™ and three colors “white,
brown, and gray” as shown in the table brown, and gray” as shown in the table
below. below.

Brown | Gray

== =

One rabbit 1s selected at random from this

P One rabbit is selected at random from this
Suppose that the selected rabbiat 1s not of farm.
whate color, what 1s the pr ity for : o
this rabbit to be from the(big size?) What 1s probability Jhat the selected
\ ~ 6”/11\ 2 2+ U rabbit is white”
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In a bag there are @identical tokens

In a bag, there are 12 1dentical tokens numbered from O to 13. A token is

numbered from | to 12. A token 1s drawn drawn at random. What is the

at random. What is the probability to P;%‘?)ability to obtain an odd multiple
O

obtain an even multiple of 3?
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SAT Math

[ce Cream and Topping Selections

Flavor
Vanilla
. , HU( hldgc | " ¢8
OPPIng Caramel 5

The table above shows the flavors of ice cream
and the toppings chosen by the people at a party.
Each person chose one flavor of ice cream and
one topping. Of the people who chose vamilla
ice cream, what fraation chose hot fudgc as a

topping? ,i

T N *2+f5

Employees at the PQM Corporation

| (Solarygade

g ¥ C | Total
level

T el olu] R/ e
T WD, o C v
W Jo )6 s
| Towl |16 ] 17 [ 23 [
P
What fraction of employees who are level Il specialists - o
arein either salary grade B or C?
Mr. Kably
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| ?\'ative continent

=

tu.st ralia l Africa |

L Class

Reptiles

Birds |

—

23

—-—f*J

The table above shows the numbers of animals
classified by class and native continent for all
9( animals at a local z00. What fraction of the
reptiles are native to Australiz?
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Number of Flight Arrivals at

Centerville Airport 1n a Month

On time
Airhne A 2029
Airline B 1.150
Total 3,179 1,561 4,740

Based on the table above. what fraction of the flights for

Airline A wer
36|
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EST Math @ 5.0, Mean, Mode, Median, and Range

2 75
9 f 3 ’ 137,163,115, 137,179, 155, 171
Data { | Y& | 1P 1)
ot A 113412300 | 3252 | 772 | 1313 @ 4.0 A geologist recorded the heights, in feet, of 2 gevser's
: eruptions over a twelve-hour period. The heights are
Dats . 3 LY given in the list above. What is the median hexght
o | 520 | 839 | 1519 | 648 | 1283 (1330 | 1360 recorded by the geologist!
A) 115
A complete List of values for each of two separate B) 157
data sets 15 shown 1n the table above{ What Js the C) 151

i : D) 155
positiveifference)betiveen the median of Data Sef 'R

A and the median of Data Set B?
_/ 6 LY
/5 21 ~15-5 @ -

Number of States with 10 or More
Electoral Votes in 2008

Electoral votes | Frequency

10 4
T

The bar graph below shows the age distribution 12
of the employees in a multi-branched bank.

4
|
13 |
A(.dhuﬁuﬁondthcomplmcﬂnamm

40
17 l

30
s 20 |
i 21 2

15
: - = Age in yeans 31 l
[50:60] [60:70( 34 1
55 1

In which interval does th mednan gc lie?

In 2008, there were 21 states with 10 or more

[20:30] electoral votes, as shown in the table above. Based on
[30:40] the table, what was the median number of electoral
ﬁ: [40:50[ votes for the 21 states?
D. [50:60] A) 13
B) 15
) 17
D) 20
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EST Math S.0, Mean, Mode, Median, and Range

e

_ 10
2 g Push-ups
- 70
- 4 60
o -
g - l . I 50
= @ 60 70 80 90 30
20
Scores 10
0
The above bar chart shows the scores of a I I N N
philosophy test over 100. O T & A
o2
What is the range Of the scores? The graph above shows the number of
push-ups Bob did last week.
40 What was the average number of
- push-ups?
C. 10 .
D. 20

7’0/505 7o

Gold 1s one of the most important items 1n the
The table below shows the distance Amur P

walked every day during the first week of (\jvorlsil;r:ts price mcr;:asgs and dc:rca;cs cvcrg
April, 2021. ay. The average closing price for the past

years 1s shown in the table below.

Distance (in m)

Thursday, April 1* 1678 Year Average Closing Price ($)
Friday, April 2™ ¥ 2091 2020 1,771.9
Saturday, ABﬂl 3 " 1245 2019 | 1,393.34
Sunday, ABn!4‘hh ;“; 1566 ] 2018 1,268.93
Monday, April 5' X 2100 2017 1.251.92
Tuesday, April 6™ 1989 .
Wednesday, April 7 B 1888 ;g:g f i';gggg
What 1s the(average X arithmetic 2014 | 1’409.51
mean) of the data shown in the table? 5013 1'668'86
A. 25114 | |
B. 1888 /ZZW‘: _%(ﬁ- What i1s the mean of the average
@ 1793.9 no closing price of the last 5 years
D. 1672.5 according to the given table?
A, 11372
B. 1,351.82
C. 1,368.99
D. 1,622.18
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EST Math S.0, Mean, Mode, Median, and Range

Number of Seeds in Each of 12 Apples

A survey 1s done on 80 families from two
cities A and B, separated into groups based
on the number of cars they own. The results
are shown in the table below.

Number of

Number of apples
S = NW & W

e City A City B
S adnflts = 25 <+ 20
vo =2X 56| = 31 + 19 3 S aZ 8 9
1] =3 X2x| = 14 4+ 23 Number of seeds
Vo = 4 %X 2 = 8 +- 12
o=S X = . + 6

Based on the histogram above, of the following,

What is the( mead number o@ which is closest to the average (arithmetic mean)
owned by citizéns in both cities A & number of seeds per apple?

B combined? ) §OI fou. A) 4
4 Z@c T né

A. Between |1 and 2 B) 5
(B_DBetween 2 and 3 U
C. Between 3 and 4 - U5 4—/004'///“'\35 C) 6
D. Between 4 and 5 - D) 7
¥ 4+ Bo )
z 2+3
Mr. Kably
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EST Math

What 1s the abscissa of the vertex of
the function f(x) =3x*—18x+ 4
? (grid-1n)

I EROIOEN
[0 )6 15| n

What fraction of employees who are level Il specialists
are in either salary grade Bor C?

@_ Jo+d _ 32

- /

Todod 2u Yy

We survey 125 employees at random from cach
of two companies labeled A and B, and separated

L’]/ + L into groups based on how many siblings do they
2 L have. The results are shown in the table below.
} Number of
/7{} +a Sy Company A | Company B
0

30
L
10

o lWiN -

125

What is thumbcr of siblings of the ? &

sample of employees in company B?

89

Revision 4

It the speed of an airplane is now 127% of its previous
speed, which of the following must also be true?

A) The speed of the airplane has increased by 27%
from its previous speed.

B) The speed of the airplane has increased by 73%
from its previous speed.

C) The speed of the airplane is now 127 miles per
hour.

D) The speed of the airplane is now 27 miles per hour
faster than its previous speed.

In a bag there are 14 1dentical tokens
numbered from O to 13. A token is
drawn at random. What 1s the
probability to obtain an odd multiple

of 3?

A.
B.

Push-ups

70
60
50
40
30
20
10

The graph above shows the number of
push-ups Bob did last week.

What was the average number of
push-ups?
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EST Math @ Revision 4
il EX
Maria downloaded to her music library a total The height of a launched cannonball can be
0f 350 pop and rock songs. If th& ratio)f pop described as a function of time according to
torock song1s 3 to 11. How man @ ongs the following quadratic equation:
are there in Maria’s library? h(t) = —2t2 + 14t + 36
i 2 K * G
A, 75 :5\ viff. ¢ ™ What is the maximum height attained
B. 125 - EY ™ by the cannonball?
. 3 :
C. 175 A. 60.5
(D275 e , 235 B. 36
Y & 9
D. 2
2 (oSS Y

If y)varies directly as the cube of 2x.)

- A local supermarket offered a discount of
and x 8 when A= Z ’ what 1s y 15% on 1its items after the government raised

when x 1s equal to 4 ? (grid-in) all the prices by 25%. Overall, by what
3 percentage were the original prices raised in
3 (Qx) this supermarket in particular?
(2 ‘r)s
(;m Nl A. 8.625%
\ (217 B. 7.250%
209Y - C. 6.250%
7 = D. 5.625%
A magazine article on video game habits i the United
" States reported that in 2012 gamers spent an average of How much money would you need to
@@la}m games. The article also reported deposit today at 8% annual interest
the average for 2013 to¥ 6.3 hours per week Based on the compounded monthly to have
article, how did the average number of hours that gamers $10,000 1n the account after 5 years?
' eek from 2012 to 20137
’z“:;:’:‘;j‘mj‘;ﬁ‘/“ change from ) ] A. $6,500.5
. r12.5° -
» . ed:*_ QP + e " Alel B. $6,680.13
) I‘f““"" ) : ;:-/ C. $6,712.10
. e - fLBE Gk, D. $5,989.3
@ It increased by 12.5%. e ot

e 4
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EST Math Fractions
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EST Malh Fractions
it
What 1s the remainder of the division of In the  polynomial  function
k(x) = 3x3 +8x% = 2x = 7 b{ x+2? ) _ P(x) = 3x3 4 (a — 1)x + 7, what is the
/—° value of the constant number a if =1 is a
PP root of P?
X 2=0

Lol
K= 362 9(-0 = o=

La ™

What 1s twice the remainder of the

For what values of x 1s
division of (2x* — 1 4+ 3x%) by

2x% =3
 ——— ‘) e, ?
f(x) — lmdeﬁned/._\ (2x — 3)
N Yo Ry A. 45
A. x=25and x = 3 x B. 12.5
B. x=-25and x = -3 [yrBB Ci 25
C. x=25and x = -3 D. 26
®x=—2.53ndx=3* —
2xX +5=9
2XED
-
[Z2 f

x3 —-3x24+2x—-1 2’“'1,1
’ Y _T-I_) x+3
~ 05 | | | |
Which of the following expressions is What of the following 1s equivalent to the given

equivalent to y? %-3 =6 CfoC:Si037
Al y=x2+2+—— x=2 ) IA) ,:2
B. y=x?—2x+2+-> (-0)- 3(3Y2[33- ) 2
C.y=x2—3—x—f3 - 5 x+3
D. y=x%+2 C) z:;
D)x—2
Xx+3
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